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Which of ‘the following waterways has beerll
declared by the Government as the Natlona

Waterwa_VSNw No. 2‘?
The Ganga river between Aﬂahabad and

(1)
Haldla (1620 km)
(2) The Brahmaputra river hetween Sadiya
: and Dhubri (891 km) :
(3). The West-Coast canal i, Kerala -

(Kottapuram — Kollam, UdYOgamandaI avid
Champakkara Canals — 205 k)

(4) Specified Stretches of Godayar{ ' and
, Krishna rivers abng ' with
 Kakinada — Puducherry Stretch of Canals

(1078 km)
(5) Not attempted
Selling off Iala part of the equity of a Public Sector
‘Enterprise (PSE) to the publiciscalled .
(1) Nationalization
(2] - Disinvestment
. (35 Delimitation
(4)  Communisation
(5) Not attempted -

5. In a Market Equilibriuﬁi_ figure, if the Demand

‘curve shifts leftward and the Supply curve shifts
rightward simultaneously, what is the impact on

. Equilibrium price ? =
(1)
@

Decreases
Increases

. | Remains constant

@

Remains undecided
Not attempted

- India’s first nationalist art school wés_ established

in which University in 1919 ?
(1) -
@
(3)
4)

Aligarh Muslim University
' Visva-Bharati University

Banaras Hindu Uﬂiversitﬁr

Allahabad Univé}sity

Not éttempted
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(4)  (a) 3N (b)

(5) 3w &l <1 9mEd

7.

Which among the following was/were feature(s) of
‘Subsidiary Alliance’, a system devised by the
British in colonial India ?

(a) It was devised by Lord Wellesley.

() A British army contingent was to be

stationed in the territory of the ally.

" (¢) The ally could never get into agreements

with any other rulers.
(d) The British were to protect the ally only
. from the internal threats to power.
Choose the correct option from the codes given

- below :

(1) Only(b)

(2) (a)and(b)
(3) (a),(b)and(c)
(4) . (a)and (d)

' (5) Not attempted

Which among the following countries would be an
example of ‘coming together’ federation ?

(a) India ’

(b) US.A.

(¢) Australia

(d) Spain

. Choose the correct option “from the codes given

below :

(1) (a)and (b)

(2) (b) and (c)

(8) (a)and (¢)

(4)  (b) and (d)

(5) . Not attempted

Which among the following statements is/are

correct with regard to the amendment of the

Indian Constitution ?

(a) = Parliament has the power to amend any
part of the Constitution except for Part ITL

(b) A Constitutional Amendment Bill can only
be introduced in the Lok Sabha. _

() The Constitutional Amendment Bill once
passed needs the assent of the President.

Choose the correct optmn from the codes given

_below :

(1) (a)and (c)
(2) Only (b)

(3) Only(c)

(4) (a)and (b)

(5) Not attempted
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1) “wwee, o gar
(2) “Garl g A
8). “can, famm gHEE”
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10.

11.

Y
@

¥

In Olympics, India has won the max

1
number of Gold Medals uncler which o,
‘since 1900 to 2020 ? e

(1)
(2
@)
(4)
(5)

Shooting
Hockey

Boxing . |
Wrestling

Not atteﬁlpted '

What was the slogan of the ‘Patient Safety Day’

which was observed on 17t September 2022 7

(1) “Health Without Medication”

(2
(3
(4)
(5)

“Meditation Replaces Medication”
“Medication Without Harm”
«Health With Yoga”

" Not attempted |

Which of the following plastics is used for making
electrical switches ? '
'Po]ytl.iene

PVC

(3)- Bakelite,
@ ‘

(6)

Teflon
Not attempted

What is the name of the plant group whose
plants bear naked seeds and aré usually
peren‘nia_l, evergreen and woody ? -

(1) I\m_-_hm
@ e . (1) Gymnosperms
(3) %f@mm (2) 'Ang'iosperms
@) iy, . (8) Pteridophyta
M _.c4} Bryophyta
_ (5) Not attempted
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FHE?
fparanse > fTemEne > demme > aTﬂmsE
fmarse > fhelianse > Sramz > frmarse
wﬁm>ﬁm>m>m
fizETEe > FeETER > firmemse > i—nangg
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)
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 Which of the follo‘mng is the correct sequence ?

(1) Kﬂobyte > Petabyte > Yottabyte > Megabyte ‘
(2) Megabyte > Kilobyte > Terabyte > Gigabyte

(8) Exabyte > Petabyte > Terabyte > Gigabyte

(4) Petabyte > Zettabyte > Gigabyte > Terabyte

" (5) Not attempted

Gf;ogle, .Bing and Yahbo are examples of
(1 ‘
(2)
(3)
4

'Search Engines.
Mo'bilé Appiicai;inns
Software | |
Firewalls

Not attempted

Which one of the following statements is correct

about Uniform Resource Identifier (URI) ?

It is a set of rules which is used to retrieve

linked web pages across the web.

(1)

2)-
resource located on the web.

It is a unique value associated with a

network adapter.”

It is a unique address that-can be used to
uniquely identify each node in a network.

COF
Not attemi:tedA

Which of the following is used to ensure accuracy

W () T RvaeT 2 2 “and reliability of data in the database ?
(1) @aa'{-r = _ (1) Databasg Schenia . .
: (2) . TREE T _l . (é). Database Qonstraint
@) sm ﬁ':,?&ﬂ'ﬁ : "(3) Data Dictionary * ‘
| (4)I 31’&'@?{ TR 4) DatalllaseI'Instan(.:lg -
(5) I (5) Notattempted
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16.
‘SHARP’ #1 Gy fhad grm 2
(1) HspaR
(2) PraHs
(3) hSaPr
(4) AhSpR
(5) IR TE &1 e

e ¥#R” ‘BLUNT® %1 @&y 1BuTn’ & 2, 34 v#1 | 16.

‘BLUNT" is related to 1BuTn’ in the same wg \E
‘SHARP’ is related to _? . ¥4
(1) HspaR

(2) PraHs

(8) hSaPr

(4) AhSpR

(5) Not attempted

‘ANGLES’ is related to ‘GNASEL’ in the Sam

17. @ SR ‘ANGLES’ %1 @a¥ ‘GNASEL’ & 8, ¢t [17.
TN ‘SQUARE’ &1 day ﬁﬁaﬁ BN ? way as ‘SQUARE’ is related to ? .
o 6 UQSERA (1) UQSERA .
" (20 UQSARE 2 . UQSARE @J’ :
(3)- USQERA (0" CERER ol
4) UQSREA | (4) UQSREA
) ﬂ?ﬂf%ﬂ'ﬂﬁ% (5). Not attemptefd
5. Frfufaa 3 B 73 w1 R | 18. Find the odd one out.
1) . gaE - ET (1) Auditorium — Chalr
s : (2) Petal - Flower
@_W (3) Fmger Hand
(3) am?ﬁ - (4) Brick—Wall -
@ w-dER (6) Not attempted
o R R s ‘Select the combination of numbers so that the
* @H@Tm &1 °4q HIT s AR smff Eﬂ > lattars ~arranged accordingly will form :
e e 9 & w arefe e T AT T meaningful word :
GNAEHR cN.4EHE | PAI Q
1.2 3 4 S e B SHe |- { < B
“’531246' ' ) 531,246 A
@ 53,9 . ol 4 @)e“/
® 5, 1,46 (2)_ 5, 3 21,4,6 GE
W 3'5’1:2,6,4 @) 5,8,1,26,4 ; .v},«@“(/
() Iiﬂl"qgf, 41 - 4) 356241 s
2, Wiy E“Tm_sa (5)  Not attempted :
k! CQR : : 4
T TL e i
2 N -mﬁ’“? element which is exactly in the middle of t
(3) 1: given se_qugnce ?
@ y 1 M
6) T3 (BN
3 J
@ H
mm%ﬁm (5) Not attempted S
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21.

22.

‘ qul @ fim & ga ot HYAT B | T B I8 ot if they seem to be at variance from the commonly
#ifsu f aifhes w9 i} ﬁqwg frsd 2w o ol _known facts. Decide which of the given
kSl ﬁﬂ»?—l‘&% l ' conclusions logically follow from the given

O A % I statements,

| LT 3
59 Fol 3 | Statermnents : ome plates are spoons. \ @
o wHhE ' Some bowls are plates. #
. (I T W R E | .All spoons are bowls.
. an . s FoR-TE ) Conclusions : (1) Some plates are bowls.
I 5—‘3 —— 1@2% - (I Some bowls are spoons.
e ; (III) - Some spoons are plates.
(1) ae I 3 11 e § .
(2) e 11 3R 11 Feperd & (1) Only I and II follow
(3)  haa I N 111 feherd g (2)  Only II and III follow
() @t I, TSR I feperd 8 (8) - Only I and I11 follow
() I TE 21 A (4) AllI, II and IIT follow
v , (5))} ._ Not attemptéd
23(ﬁm%ﬁaaawa¢mﬁmﬁa(?)%mq -t —
L e 5 | 23. Which number will come in place of the question
g AT ' mark (?) in the following numerical series ?
l? .
(1) 1729 1 1729 -
(2) 1728 (20 1728 t:f}? "lr
(3) 1500 (3) 1500 il
(4) 20736 (4) 20736
(5) IaX & T e (6) Not attempted

peferfiad B e g HR-aT R ?
5, 15, 20, 24, 25

(1)
2
3)
(4)
5)

15
20

24

95 |
I A

47 oA % o 97 T oo € | ameE: @

22.

@F{nd the odd term out.

6, 15 2Q124 5. .
"’ i- '\1 { r ‘r 12 j;r

(1) 16 N R

(2 20 \o e

(3) 24 oh Ay L
‘}( P & Mui?

(4) 26 h u. A

(5) Not attempted

Three statements are followed by three

conclusions. Take the statements to be true even

‘RAMA/A1/Page 7
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aurant,
You are the owner of a rest Ona nf

4,
24, I UF verd % mbv 5 | s fefiall = (2 delivery. boys met with a minor acc1dent o TR
T W e g W’Eﬂﬁﬁ R Ell gdz:ﬂ rushing to deliver the food on time. He Neg, S )
R &1 Sma WP A 3:[[3‘32‘[6]1—(“ ' for 5 days. Which of the following actmns y% =t feraife
_Wﬂq%%aﬁﬁﬁnmwﬁaﬁﬁﬁ" take ? | e |
(V) 3 el 3 e 31 (1) You will terminate him from the serviy, e e
i @) 3938 5 far % fd faeifar = 30 I (2) You will suspend him for. 5 days, goered A ?
| . . 1 :
(3 3 38 5 7 % foe fam 307 T W Sl (3)  You will ask him to go ?“ eave withoy, @ 700
' o=y _ . for 5 days.
1 (4) I I/ 5 R w1 w307 qawm 3 3N IuH (4) You will give him paid- leave for 5 day,, (2 210
! : ;L =1 0 o g | ; " will also pay for medical expenses. 3). 900
| (5) I A o wrER _ : (5) Not attempted :
! 25. tAs' 131 ‘ ; 3 (4) 0
| = o C D E e’ﬁ( ‘F’?ﬁj@ﬁﬁ% 1C'D ﬂ w 25. :As’ ‘B,,_ ICI’ ‘D’, 004 alld ‘F’ are six persons, 0
2 1A T B 2B o ‘D s Hg H g older than ‘D’. ‘A’ is the youngest. ‘B and D, (5_} Lty
BB ¥ we % (Ko ‘F’ﬂ?ﬁz‘l% | ‘B’#agaﬂ:[% ? - of equal age. ‘B’ is older than ‘E’, ‘C’ is youy,
(1) c3kD than ‘F’. Who are older than ‘B’ ?
@ C¥RE (M) CandD | - e SR
(3) F3lRE. (@) CandE COO@Q 3 ‘old a
@ Favc 3 FandE - & g o
C:T - E
- (5) WU T A _ 4) F and C F ')_ (1) da
(5)  Not attempted
26. ﬁm%rﬁaammﬁ‘x%%mmﬁqﬁ il o
wem et 7 26.  Which ‘number w1ll replace X in the g (3) ta
0,7,26,X,124,215 - e : numenca.l series ?
v .
(1) 60 _ i, S Q,7,26, X, 124, 215 4) na
(2) 65 ' - TL) gy ———— '
: - - ‘ M, ¥ (B3) T
3) . 62 @ | 65 B ";;”“':J‘ B :
s Tt ; ?
i_ 4) 63 B 62 iy oF : _
(5) mqﬁﬁma@ & IR 30. P9z =
R Rl W W) | N
.27-;-=ﬂ%ﬁqmma%anﬁa:rgaﬁﬁm'mé;ﬁ —_— i 1
_m TR A | 7. |?7 . Find out the word which ¢an be fi - s
] SUPERVISION the letters of the given . ormed by usm e ke
! M) RESIGN - - SUPERVISION '
| (2) POISON _- (1) RESIGN 3 N
: (3 REVISIT (2 POISON
4) NERvOus (3 REVISIT By
i (5) Wqﬁ%ﬂaﬁ% | it (4) : NERVOUS_ (5) 3
RAMA/A1/Page 8 < & ). Not attempteq _—
% =T % forg ' e RAMA/
. - ¥ITT | SPACE FOR ROUGH WORK , A1/P;
b, I'1
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9, afe frdl e wm # ‘over and above’ #! ‘da pa ta’

ma;a:qﬁ:asmmﬁ 100 ==t ¥ s sy A
iwoe faf@ 8 0 A | % ¥am 70 w=i 3

| Sieae faafE O EH 6 I T 3 gieee |

e e 85 | RO R g Ry s
e A?

A
W 70 JRg o
@ 210 \r . ‘:l
3)- 900 . ,,)o“":::’/%

(4 300 . &
(5 mwa’fé?r?ﬂé'f’f T

= ‘dld and beautiful’ ﬁ ‘sé. na p'a’ o s 3,

28.

On: Ajay's birthday, chocolates were to be

distributed equally among 100 children. He could

—

distribute to 70 children only so that each child

got 8 chocolates extra, How many total

chocolates were available for distribution ?

A
; 700
L
.. (2) 210 . \ﬂ.
o 900 AT
3
T 2 * P A© "‘A
(4) 300 e
; -
- .(5) Not attempted :
99. In a certain code language ‘over and above’ is

written as ‘da ‘pa ta’ and ‘old  and beautiful’ is

wﬁtten as ‘éa na pa‘. How is ‘and’ written in that

. (;) - da code language ? ; | Qo
] 4 7 f"
- (2) pa : A da NA

@)/ ta '(2‘)' pa -

(4) na (3) - ta.

(5) I E 9w (4] A8

Ry A W B & (5) Not attempted
30. i T & v ERT S oferT ol @ e AT T

' 30. Find the odd one out which is coded differently.

(1) * HOPE : EHPO .

, | (1) HOPE.:EHPO

@) BT . 5 |

..TUNE_ :ETNU : (2) TUNE:ETNU

(3 MORE : ERMO '@ MORE : ERMO

(4) PLAY:YPAL (4) PLAY:YPAL A

6) 3w 48} = = (5) Not attempted ’<\/
famedcerle. 8 , :
RAMNM.-'Page g . 1% ThTd % 70 T / SPACE FOR ROUGH WORK /lﬁk l

7 . )
. oV
\ 7



31. e o
0:3333 x 0-25 x 0499x0125x24
Rk ok PR y
(1).% j«*;”‘
@ 3 3(*/ Ve
_ $5s . a0
4 ’5?%@ %/ 2.
3) g L :
(@) g
(5) mq{f&mma
32. ﬁx@amm%my,x%aﬁﬁmﬂ*ﬁ
mﬁmmmﬂmma ?haw(x |
" i Pt Ah
() 4%
(2) 64
@ 94
@ 123
(5) aawa‘famarga
33. @H@raﬁmq‘rrmmm%wquﬁwm
WW%IH@TGﬁWLCM% e 1N
(1) 100
(2) 150
(3 200
(4) 250
(5) 3 E ¥ =R
84. i ffim 3k amsem, T'ﬁ?ﬂ'—fﬁﬁmﬁqqaﬁgaﬁq{
-l g, w45 A, 75#%3@90@“%3,3
R 19 7 o 7 ¢ g 15 W
W?ﬂg ﬁmaﬂwﬁmﬁﬁmemﬁTﬁ?
(1) 7:28:007%2
(@) 7:27:45%3
(3) 7:27:3092
4) 7:27:50%
(5) I TR & =

32,

3‘3‘

34.

31.

[
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The closest approximation of the f
pmduct a
03333 x 0:25 x 0499 x 0:125 x 34 'gs. TRA
is : ,
=7 3
w < .
; oof Sehlo
tias % B g3 *— (2)
@ = o Y
4 aﬁf Tne \5901- | (3)
3 (}; XA) (4)
3 = \ va y |
- '8 V@; 5)
B
@ 2~ 5
_ b ' 36. A X
"(5) - Not attempted T-'ﬁlﬂj
If x is a 3d1g1t number and y is a My, z |
obtamed by permuting the digits of x i, e
manner, then (x — y) is always divisible by ay
1) 4 gm"‘kr %/
[ @)
(2)- 6
(4) 12 (4)
(5) Not attempted (5)
The sum of two numbers is 45 and & ~
difference is one-ninth of the sum. Theng, 37- 91
LCM.is : o !:’“)"’ r T@';'
(D) 100 £ 3
(2) 150 Lo i) ap
(3) 200 p— ., (1
(4) 250 ~ 14/ (2)
(5) Not attempted ¥ (3)
The traﬁ" ic lights at three different signal p& @
change after every 45 seconds, 75 seconds® (5)
90 seconds respeotlvely If all’ cw
sunultaneuusly at7:20:15 hours, then they? 38 (?f
next change again simultaneously at : )
(1) 7:28:00 hours - g 1
() 7:27:45 hours iy o ( ( @
(3) 7:27:30 hours s (3
(4) 7:27:50 hours gx T - (4
(5) Not attempted * . (5
— "z g v
G
/ ‘ c’ )&I‘\ 5"/ \(
K& '>\ 1
\,\;f* s Jofux
' A
IYD Y “0 / f



A o A %1 3@, B AT 10% aif 2 qur g fy
i C@mﬁzo%W%,a’tmm,Bmc
oy A R
(1) 11.:10:8
@) 22:20:25
@ 10:9:7
4) 22:18:25
(5) AT

35.

6. A X % TH I O R | 7 7wy @ ot

36.
1 1 1 1-1 |

WA gig g gy T e s
g|m%wmﬁm%=hmﬁra:ﬁmﬁq
'mﬁmmﬁﬁmﬁmm@'?
(1) T 358 .
@) T420
(3) <512 E o s ' ‘\F"L\
@’ T599 . S W |
(5) mﬂﬁf%ﬁnﬁ%

3. ?aqm,@@ﬁaw @ @ gt & s =
w-fied, TE 49 T A 8 T R | AR B wen
ﬂ@ﬁmﬁzﬁtﬁﬁwwaﬂmsﬁ laﬁ’éﬁ@

37,

If the income of A is 10% more than that of B and

. the income of B is 20% less than that of C, then

the incomes of A, B and C, reﬂpectwely, are in
the ratio :

D"A‘"
(1) 11:10:8 ca\® ™
(2) 22:20:25 - W-Q‘%C\ |
(3 10:9:7 | i RVl
(4) 22:18:25 , e s{’;@ *
(5) . Not attempted U ,:/ '
=

Mr. X has some money with him. He has to

distribute this money among five labourers in the
ratio 1 : l Al l

72,8, 456, T
amount he should have so that each labourer

gets an exact number of rupees ? VoY 2

. What is the minimum

. o
(1) " %358 %@%
(@ T 420 o
@) T512
(4) T599
(6) Not atterﬁpted-

There are three positive numbers. One-third of
the average of all the three numbers is 8 less
than the greatest number. The average of the

F@TW‘E o .smallest and the second smallest number is 8.
| What is the greatest number ?
1 9 l a | . B SEEE(1) 9 M\\j\x’
;2) LY 4 ‘ | @ 10 : - nfj_ﬂ‘iu'
AR I = 43l TR '15{?:_\6*—,,,« g =
7 ER T > Vi - ey TR ey
(5) aﬂtq-gféq-[qﬁ% "~ (B) ' Not attempted k . N
: \ N 3;::_’63
38. ( Q/I+ 729 +§[_') TR 38. (\/ﬁxazl + Y729+ ?f_) is equal to i
M. 1369 (1 1362 NS
& g @ 79 wkbo
- 3) 1489 @) 1482 Q:}z
@ sosg 4) 9088 - _ ¥
-_____{__5_1__;_3_31_@ %:r[%rrd?t (6) Not attempted
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39. wmaaﬂsmoﬁaaﬁqz,gaammﬁ

- 40.

R -41I

42,

(D)

. (4)
- (5)

FTAAE ? £ A%
T 1,007 | '}:&- ' ’\3:4 3
@ 1,192 |
@) 1857 .. ) /)’(
@ Tige8 :, V
m”ﬁa"mﬁ?" | &g m
’ & B S

lﬁ%iﬁé'fﬁiﬁ?ﬁ%us%m%:%aaﬁtﬁﬁ‘ﬁ
fraa & a9 2 .

(1) ¥ 21,000 '1\6%
(2) T 22500 N f

| N oK ':5?’
(3) . ¥ 25,300 \¢/ a
(4) T 25,800 xé%\ S
(5) I A T wE '

uﬁ@mﬁm% R A, @ e R
T T 9 Y 3 g e H S R 7

>
(1) 5:11 w5
qc
(2) 5:6 \*8’\ Mﬁéﬂ
(3) 6':‘_5 : \g @9
@ 15 i ,@;‘f\ ';}q‘#(/é:
(5) SWAEmEE . ¢

A ¥ T 38,000 T SR W T | 5 TE
T T 55,000 F A @M W B 7 oft @ =R d

yay foram | o & ofa # = 22,000 1 Fef A g0 |
-ﬁmﬁﬁaﬂ?@ﬁuﬁrAmﬂtB%m%Wm '

14 . ﬁmnmn35n°f m@%wéﬂﬂﬁmw

gmﬁﬁﬁﬁﬂ'ﬂ?ﬁﬁ@w&ﬁ?ﬁﬂﬁﬁﬂqtﬁ

42,

40.

|

39. When a plot is sold for ¥ 18,700, the Own,
15%. At what price must the plot be sold j, ”
to gain 156% ? - 'f]
(1) % 21,000 P ‘\"{,@
@ % 22,500 & \ :
(3) ¥ 25300 y ‘
~
(4) % 25800 s
(6) Not attempted

If an article is sold at 20 percent profit ,
which of the following is the ratio of its cost "
to its selling price ?
(1) 5:11 '
(2) 65:6

(3 6:5

(4) 11:5

(5) ~ Not attempted

s - A gy
- MM
2
bt

4

MAlstarted a business investing ¥ 38,000. !

5 months, B joined him with a capita
¥ 55,000. At the end of the year, the total p
was T 22 000. Which out of the following is
"approxlmate difference between the share

_proﬁts of Aand B ? & D
@ < 1,007 g’ 5
@ 1,192 fxn b
A @) = 1,857 2 BEX-3 N L
X 4 T1,928 35\3}@ e
' s
' _‘(5) Not atteplpted _ % _ %ﬂ

The “cost of a solid eylinder of radius 14 m
height 35 m, when_ the cost of its metal is

per cubic meter, is :

(1) %71,00,208 (1) ¥ 1,00,208 \\\.\_ry)’
(2)  =1,07.800 (2) ¥ 1,07,800 ,V~(- @d\
(3) 108,000 (3) ¥ 1,08,000 EZ e _,_'VV
@) 1,09,800 e 4) 7 1,09,800 '\\>'=;f
(5) I A T =My _ '(5) Not attempted gl A
RAMA/A v - £ &
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-

¢ 126 SR R AT T 136 5 R oy a

| g g B T AR R W 1.1, %

@mﬁfﬁﬂmw | afe s # g 2 153 i
wg,a‘t?ﬁaﬁmﬁﬁmwgﬁ%ﬂm
2: '

(1) € 16950
@ 17000 ‘ , {
@ 17550 p {\6 /
@ 718000 ' \/
(5) At Tl A e .' 07?:\/ -

s S T T B o e

w0 fa d W OER E A o wad W A
e o1 o 8 ¢ 5 ¥ | AR wh A e et |
o o S, A 9% 36w Hi e el # quoaw|

43.

44.

Tea worth ¥ 126 per kg and ¥ 135 per kg are
mixed with a third variety of tea in the ratio
1:1: 2, If the mixture is worth ¥ 153 per kg, the
price of the third variety per kg is :

1) T 169:50
| 55
@ % 170:00 (-t
(3) T 175:50 Wb r -
Y gam §
" (4) 7 180-00 o\ X
(5) Not attempted
1S

A man and.a boy together can do a certain
amount of digging in 40 days. Their speeds in
digging are in the ratio 8 : 5. How many days will
the boy take to complete the w.ork if engaged

alone ?

e ? o e
b . (1) 52 days { A =
i ; =
1) 52 ” 3 - I
@ ﬁ:{ e v ) - - (2) 68days .\'c('- Y~
@ 68t i oo ' ' ‘
. - /—'37’—»’/ (3) 80days e
(3 8of@ < s )
_ _ (4) , 104 days
~(4) 104fF Yot o
" (5) Not attempted
| 6) IWAE AR ' |
uft .
1 . N | _ _ 45. A sum of money at simple interest doubles in
45. T wuly gremer s w7 EL| ﬁgﬁﬁ & It ? | 7 years. It will become four times in :
- W St 2 '
aﬂﬁmﬂ:ﬁ@ r (1) 18 years . )
W (2) 21years. G =
@ @ 38 o VT 3/1‘
: years :__,‘.\,UL
(3) 389 Ly
| (4) 42 years el ¥O
4) 429§ . )
’ _ (56) Not attempted !
(6) '
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" mountains and. the sea which gives the country a

, generates both dlreot and mdlrect employment

" 486, Tounsm as an industry also contnbut.es to our

_47.

— -
g = e e Zo o s

| RAMA/A1/Page 14

Read the following passage careﬁzliy and answer
questions 46, 47 and 48. -

India is one of the oldest civilizations of the world,
which offers a kaleidoscope of cultural experiences. The
country has a rich heritage and numerous attractions.
It stretches from the snow-capped Himalayan peaks to
the tropical rain. forests of the south coverlng
32,872,263 square kilometers. It is the world’s seventh
largest country, distinguished from the rest of Asia by

distinct geographical identity. India showcases a
variety of heritage resources craﬂ:ed hundreds of years
ago from huge hentage sites'to pristine sea- -beaches.
Tourism contributes to SUbstantxal ec0nom1c, soctal
cultural, educational and- political development that

- country’s i
(D
(2)

3) educatmn and employment

populatlon and employment

agmculture and religion.

(4) _rehgmn and statistics.
(5) Not Iattempted ¥

Besides the world’s oldest cwﬂlzatlons India is |-
also the world’s largest eountry

(1) third N

(2) Aifth : :

@)/ tenth, . |
(4 seventh .

(5) ‘Not attempted

- 48, . Find out a word from

the above passage wlnch
:Jlti,fms a country’s history, tradltlons and culture
(1) 'identity
(2 heritage .
(8) pristine
" (4) attractiong

(5) _ Not attempteq

|51,

52.

50. -

R (1)
(2)
(3 exagglterafed tales

= aiternatlves

. (5)

|

49. Choose the word which is opposlte in

the word underlined.

“Earthquakes are frequent in J apan »

(1) extinct

(2) unusual

3) few
(4) rare

(6) Not attempted

Choose the word which is oppomte in mg,
the word underlmed

. “She'is slender in figure.”

(1)~ strong -
(2) frail
(3) stout
) slim
(5)

Not attempted

Choose ‘the alternative which best expres
meaning of the underlined idiom.
‘Her speech is always full of tall stories.

long tales

_heroic stories

(€]
(5

realistic stories
. Not attempted

In the follmwng questlon out of th

choose the one which ¢
substituted for the given sentence.

“An apartment building in which each ap¥

is owned separately by the people living in!
also containing shared areas”

A1) Con_domlmum
(2) - Multiplex

(3) 'Duplex
(4) Carav'an

Not attempted
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|
|
B

3
Jure

_ iV
G

o
(2)

pick out the f;orfectly spelt Tnord. Sy
(1) Outregeous

Qutrageous.

Qutragous

Qutrajious’

(4) Y aike
Not attempted_ s mes Y

(5

" Choose the - correct passive voice form of the].

following sentence..

Sheetal will have finished the work,

The work is finished by Sheetal.’ »

The work will be finished by Sheetal..

3):

" Sheetal. . ; . ‘
Sheetal Wlll ﬁmsh the work in due tune
Not attempted

)
(5)

sentence. -
P. deedsis tobe. -

. Q. on to the future’ "
- R. _the power of noble
B 'preserved and passed ;

P

A

The = work- w1ll have been ﬁmshed by

b7.
* - following sentence.

@

: s
55. Rearrange the following parts of a 56ntem;e y
labelled * as PQRS to make ‘a ‘meanin gful

The ald man is looking forward - .

Pick out the correct indirect speech form of the

“I have bought a house,” he said.

(1): He said that he had bought a house.
(2) . He said that he has bought a house.
" (3) He said that he boﬁght a house.

He sald that he would buy a house

(5) Not attempted

Choose the most appropriate. preposition to fill in
the blank S i

She succeeded - dint of perseverance and

; hardlwork..
I for -
(@ from
® by
B .
5) Mot attempted

e il the
M- BSQP - 7 T 'isits of his grandchildren.
, @ BQRR . LR ‘@ for
@ PaSR ﬂ @
(4)- RPSQ _ - -. : o | g
(5) 'Notatbempted X : : @1 -
; : 4 w1th b
56...Bick ot the part of the: sentence which has s | &) Not attempted
error. If there is no error, your answer is (4) N
The simplest method | T '
: " — . : | 60. Fill ix in the blank w1th the appropnate option
ﬁ‘LH.mgtwﬂ pieces of metal ff;géthef , REen below
e TR “The Battle of Waterloo was won of
f.s___k_'r_l_?}_'-’_n_&l_Spressure welding: - Rk ‘ 5
T e (1) with the play field
W 4 - * (2) - on the playing fields
-2) B ", .z (8)- for play fielded
Ei; c .. (4) in the played -
) . I;Zter::r il (5) Not attempted
BAMAJA1;page 15 B e % o7 TIT | SPACE FOR ROUGH wonﬁ '
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- ﬁqm_wﬁmwﬁwml_ |65, ‘e e v 1 3 A
Lol g w mww
e 0 s
®- s . @ maRE
@ @ o am
6 Wqﬁfémwﬁ (5) Fe A 1
| | '
| ez e 1 T T e o 2 ss..‘aﬁmﬁﬁwaé’mﬁﬁqsﬁamm
{ (1) agavma‘m - [ ;o
@ a@mm S Q) I
o) e A ©(2) IR
@ e o T BT ). I
5 sl A @ o L
g b R () T R
6. asmma:rmmﬁmw%féﬂtﬁaw E - : -
1,‘ ' aﬁv | . | 37 m’wﬁmsﬁamﬁmﬁﬁw’wﬁ
m * TR AR ¢
@ w ' (9) dRA
. (@ Fm
(O -(4) o _
(5) A JAE () F
M T AR i s 16 ﬁmﬁftﬁw‘i_ﬁﬁmwwamzﬁﬁm
() @ 1) T |
@ WM (@ i T
8 I o e S
» iy @ i i \&\YE\O(\
- ﬂqﬁhﬂ ® ﬁtﬁ'@fhm@% AN | R
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B ki s S ——

73.

3 mﬁuﬁlmmaﬁ%
| ) #E
() L -
o W (yg (2)_3@.
@ "™ S (8 T
) s (4) WM
(6) 3 _ © s e
36 fagrrﬁ;{aﬁaéﬁgagm
i  fEr ﬂﬁa’ﬁm%m@qm
m%" _ 74. mmmmﬁmﬁsmmﬁwmm
() R ooEmRY
_' oy =il ﬁﬁm@aﬂq‘zﬁm%l ;
(3) e SATTH . :
" i ., (2)-,gagitﬁma"1$q€f l
5) mqﬁfﬁmmﬂ 3 Wa%ﬁfﬁﬁfﬂﬂwﬁ%‘ﬁﬂﬁl
T AR @ AR AT IAFE
71.51%01:1%5‘!@;@%83’?&@@33@% - ?ﬂt:lé‘fémmﬁ
(1) &, =i, w— mwwmwml_
(2 %'asa‘n AR L,
(3) = i, i, aﬂwﬁ:msrr:raﬁ%l | » -
(4)'mw@mﬁmaﬂémmf%m 75, F% F a@ﬁ%’m%ﬁﬁm%m
) mqﬂamarga STORRE S 1 e wwmmwﬁmmgmi
: n MW
72. : e, F =
“‘W“"Wﬁﬂg?ﬁ‘ﬂaﬂ’% @) Hiee
W e AL
@ aw. " > @ #wE
(@) Rt @ I
@ ® ot
(5) ‘I
RAMA/A1/Page 17 <% @ & foT U | SPACE FOR ROUGH WORK



C—

76, 2010 ﬁ{%awﬁgmaﬂgyﬁmwﬂﬂf

feam 2.
(1) s
@
-~ (8) GrEt
(4) wfEEE
(5) e T & <

77. ﬁmﬁr@ﬁﬁﬁgﬁam%'ﬁmwﬁsﬁaﬁ
¥ 9092 1 ‘gxr oY GEIE SgH T T 7

& a7

76.

Which language was accorded the statyg
: 1

second official language-in Haryana in 5,

(1) English

- (2) Urdu

(3) Punjabi
(4) Haryanvi
(5) Not attempted

h among the following personalitig

Whic
ma Shrl awa:rd in

Haryana received the Pad
in the field of sports 7
(1) Sandeep Singh

(1) wdw fas
= Eﬁm i (2) ' Sumit Antil
{3)_ HT IR = (38) ‘Bajrang Punia
4) o e (4) Yuvraj Singh
.(5) 3T A8 oAl <ITad (5) Not attempted
78. s Ui qifagm TweH! (Tgash) FT W ot '7:8. In which year was SAI National Boxing A
' @3’"-? MY 00 | (Rohtak) inaugurated ?
(1) 2019 . (1) 2019
@ 2018 ' (2) 2018
(3}, 2010 (3 2016
4) 2017 @) 2017
R :ra"fé:n e Lad s (5) Not attempted
79. fiaerdt e gien JT%H g & 59 ﬁa iy 'HH%I 79. Sportsperson Seema Pum'a‘- Antil haik
..T@Tﬁ% ? ' . _ which village in Haryana 3
(W m (- U_]hana
Raly A (2) Khandra
(3)  @aer (3) Khewda
, @) SreEm (4) Kaluwas
. (5) TR AR & ETE?( (5) Not attempted
8(.}' 20153 m # "Ié frg ghamrEt fioed g rﬁﬁﬁ 80. Which Haryanvi film released in 2015 *
SRR ﬁm- ‘Tk’. A i two National Awards ? -
@O g
(1) Beera Shera,
(2) IR ' ;
@) T (2) Chan'd Chakori,
)t @ Pagd _
(5) I AE T : (4) Veer Ghatotl:silch
RAMA/A1/Page 18 = (5) Not attempte R
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el

W qf%'eﬂaﬁ G0 R W R 2 81. Where is the Chhaj ornament worn by women ?

9/ M’ ' ' (1) TForehead

@ ]Té:[ ' , ﬁ ‘“ (2) Neck

@ ;f \". t (3 Hand

4 TR d (4) Waist

®) . e A AT i (5) Not attempted

gt =1 A T T R s ‘Tﬁ?ﬁ H mmfiq 82. Which dance form of Haryana is dedicated to
i 3? Shiva and Parvati 7

(1) T«ﬁﬂiﬂ . . _ (1) Manjira Dance

@) o gl g ' (2) Lasya Dance

(3) w@ars T i b ' (3) Ratwai Dance

(4) T A (4) - Gangor Dance.

(5) I AR " (5) - Not attempted

83. Consider the following statements :

33, ﬁqﬁqﬁa@a‘iq{'ﬁaﬁ ity :

v 3 Bffa T T E R | (a) Chope is a style of shawl manufactured in
(a) e |
Haryana.
& ga—cﬁﬂﬁ
® %"T i O g (b) ~This'shawl style is also known as Phulkari.
i # & FA/E T uﬁr 2/ Which of the statements given above is/are
; correct 7
) E; ﬁ EE) (1) Only (a)
ey ; (2) Only (b)
3. @ (1;; ‘;’_H; s ~ (3 Both (a) and (b)
(4) (a)@(a:nma _ - (4) Neither (a) or (b)
6) IR (5) Not attempted

34,

1:}70 {8 Tfle3ggen # IF % WG ITH

35.

:“MNAUPage 19

(1) 359G g reqret!
(2) <fed @m :

- (3) mmﬁ"

(4) v fafemn

() I & =
'Mﬁmwgﬂamﬁmwmw

84.

85.

- (3)

After the death of Najib-ad-Dawlah in 1770 AD,
who aseended his throne ?

(1) Ahmad Shah Abdali
(2) Jabit Khan

Najaf Khan
Mahadji Scindia
Not attempted

(4)
(5)

When was the famous Badkhal lake of Haryana

q1 7 developed ?
1 = 1940:’-: (1) In1940
(2) ¥ 1947 i (2) - In 1947
(8) ad 19501 (3; ;n 1950
. @) 91974 % (4) In1974
(5) I 7 T = (56) Not attempted

% T4 % foTe ¥ | SPACE FOR ROUGH WORK



87.

A N L SR T S TC TG T TS I TR

Wnﬁﬁqwmmﬁmﬁagﬁ%ﬁﬁﬁq:

FITHL @ I
I. T a. faEm
1. HE b, ¥ud -
I hfveere. c. | UFiga
IV. g d. TG

(1) I-b; Il-g; I-d; IV-a
(2) I-a; II-d; III-b; IV—c
(3) I-d; 'II-a; III—b; IV—c

' (4) I II:b; Ill-a; IV-d

(5) I Al oA aTEd

e e el Tt et feua 2

1), @
(2) Sig

- (8) 3Tl

@) HaA oy o

) mqﬁ&mm‘a

e 2

ﬁg?ﬁrrg?ﬁmeﬁ?_f £
£6) mmﬁmwraaﬁfﬁr T o2

' (2) ummmﬁrﬁr

@) W@waﬁrﬁ Jard
(4) ﬁﬁé@qﬁm(aﬁz)wzﬁwqﬁrﬁm
(5) wqﬁfémznga

ﬁ‘ﬁ’?ﬁw Al SETeTd hl TATHHT el §§ ?
W VI, 1055
@) 10“’%,20[}5 ' 2

87.

| 88.
88. gﬁqwnm?ﬁmaxﬁ:ﬁw 1994ﬂaamnaxas__ |
Wﬁq%f@ﬂﬁ@aﬁ?maﬁ%mﬁaﬁﬁm |

Haryana given in Column I With thej, ';‘M
r

names in Column II: i
Column I Columnpy

L Sairishaka a Sirsa

II. Kanoud b. Kaithal

III. Kapisthal c.  Panipat

IV Panduprastha d. Mahendragarh

(1) I-b; II-c; I1I-d; IV-a
(2) I-a; II-d; 1II-b; IV—c
(3) I-d; TI-a; III-b; TV—c
(4) " I-c; II-b; Hl-a; TV-d
(5) Not attempted

Where is Baba Ladaana Tirth Sthal situateq>

(1) - Rewan
(2) Jind

. (3) Ambala k.

(4) Kaithal

~ (5) Not attemj)ted

Which of the following éommittees is

' appointed by the Panchayat Samiti accordin:

Chapter X of the Haryana Panchayati Ryj.
1994 ?
(1) Social Justice Committee

(2) ‘General Committee

@) Health and Welfare Committee

89.

: (4) f“ina_nce, Audit and Planning Committ¥

(5) + Not attémp'ted

When was the first pMe
in Haryana ? '

(1) 17t January, 1955
(2) 10" May, 2005

B 7 3mg :
, 1908
(4) 179 19, (8) 7™ August, 1998
(5) I oy ey (4) 1% November, 1966
RAMA/AHPage 20 W, : (6) Not attempted e
¥ % 3 fore T / SPACE FOR ROUGH WORK
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Oy R
(2}' WT
L. 8 ’3‘5@* "
(5) Wﬂﬁ%’mﬁﬁ?f
.gL,-Wﬁﬂagam%@é%?-‘
o R -.
@ R
o (3) wEET
(@)
{5j‘ waﬁ%minz%
| 92 mﬁm%
(1) TR JHR

() e e
@ i g T e
(@) S, o R

®) aﬁt?ﬁhm‘@ |

9. Wﬂ%ﬁﬁmaﬁwg&aﬁmﬁmnﬁw

qoRR T S ¥ 2
.+ (1), 2,00,00,000:
. (2),. T1,00,00,000 " -
L (8) % 4,00,00,000 -
4) %6,00,00,000 °
('5) IR T TR

Wﬂﬁrmqe‘iw%'?
() ui?p?ﬁm :
Q) W :
- (3) nﬁw&ﬁ(gﬁna@“%"
(4) F A :
) T A

9. ﬁwwﬁmwﬁa’mw‘%"

W*ﬁ“ﬁé“ﬁﬁ“ﬂf@?ﬁ%? L se.

. |92.

RS

©. Which district of Haryana receives the hlghest
rainfall ? 2

(1) . Hisar:
(2) Ambala

; '(3j Kurukshetra /

(4) ‘Bhiwani
(5) Not attempted

Where is the Blue Bird lake located in Haryana 9 <
(1) Hisar ;

(2) Jind
(3) - -Farldabad

Ny ‘Karnal '

(5) Not attempted

The chmate of Haryana ié "

(1) Continental type. _
" (2) Sub-Humid Temperate type

B(3) Sub- Troplcal Dry Contmental type )

(4) - Sub- Humld Sub- Tropmal type

(6 Not attempted

93.

.'\

; ‘What is the One Tlme Cash Award for Mahavu'

— 1'\.

Chakra Awardee ?

(1) 2,00,00,000 -

@) %1,00,00,000 0 - _
©(3) T4,00,00,000 1 - -
© (@) ¥6,0000000

" (5) Not attempted

What is the State Bird of Haryana ?
(1) _House Sparrow 5 F

@) ‘GreatEgret :
' (3) - Humming Bird- ,
“(4) . Black Francolin
T (5) 3 Not attempted

95.

W}uch mty is known as the ‘Heart of Haryana’ ?

(1) e s AL Ambala .

®) i 2 5ol Y (3) Gurgaon (Garﬁgi‘am)
o) P “| - .. (5) " Not attempted
RAMNM !Page > 1 1w e o FoTg T s'PAce-FOR ROUGH WORK -
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. 97,

- 98‘.

96.

What is the percentage of the total expeng;
tyy,
¢

. fr )

96. e TS wwe & farcdta-A o022 - 23 A T T
=1 Frgar wfewa frem ¥ a5 # =4 q : et allocated . towards Education in Haryana 8
 amd ? = o Budget for the ﬁnanclalyear 2022 -237 - ta,
: (1) 182%
W 182% @) 16-4%
- (2) 16'4% (3 142%
zj ::j:: (4 152%.
; o (5) Not zittempted
(5) I & A | ‘
s - 97. What is the total number of electricity consyp,
g | fFga Gmﬁ?ﬁTaﬁ "ﬁ ?ﬁ a’@ﬂ{ 2021 -227% . . in Haryana till 2021 227 -
ﬁh-afﬁ%‘? ne - - - (1) 68,57,609
(1) 68,57,609 . ' (2) 71,17,384
(2) 71,17,384" (3). 172,17,283
(3) 7217283 @ 7307992
@) 7307,992 | e Not. attempted
() I T&‘T el a'r@'ﬂ ' '5':"- J |98, How many District Level Treasunes are there
3 .~ Haryana according ‘to the Haryana Econoni
‘gﬂmvnmﬁfﬁaém 2021-22%{@3&11117"# Survey, 2021 - 22,, _
Fd- e -Foret w1 ailﬁll I ?‘? " co- R (1) 26 - e
) #8°7 n 0 i mi
gl By, il o e ‘@ 2
R R o B
@ 24 i ) Notattempted
® mqﬁ%mﬁ CiE : '
) [ 99. _How many vﬂlages have been assoclated with
99; ‘%mma ammma a’mma: mnf?rmaﬁ 2022 a'as " . Mhbara Gaon, Jagmag Gaon’ SchemetﬂlJanuar
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